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Instruction ;388

. DO NOT FLIP OPEN THIS FRONT COVER UNTIL YOUR PROCTOR TELLS YOU.
FEARN E L% Z RGN 55 A ZERIPA B
. This is a 24 question multiple choice test. For each question, only one answer choice is correct.

B EUfmaEEREN I, AEEE A EIEME R,

. Each question is given a point value. You will receive full points for correct answer, and zero point for blank
or incorrect answer. The full score of this test is 96 points.

BEEH ARG ERE, EERND, BB AR ARHEIHRI T 759657 o

. Mark your answer to each problem on the answer form with a #2 pencil. Check the blackened citcles for
accuracy and erase errors and stray marks completely. Only answers propetly marked on the answer form will
be scored.

RIS BT H A SR # 28 AR E B E R b R SRR R R R AR R R AR S
PSRN B R BRI AR EEE Rk SR A ERETE

. Only scratch paper, graph paper, rulers, protractors, and erasers are allowed as aids. Calculators are NOT
allowed. No problems on the test reguire the use of a calculator.

PR RARAR. At R BASAR BRI TR SHa R A A . BlRlris
AT A L 5 0l P s

. Figures are not necessarily drawn to scale.

W AR H L AR

. Before beginning the test, make sure to record your name, school name and Competition ID on the answer
form, especially to bubble in the 8-digit Competition ID completely!

TEBHIRRECZ BT . FERREOR AT IR 25, AL RIHES B SRR RS R L, Rl 8 A i i Hit 1Y
BT RO LA Y R (B

. You will have 75 minutes to complete the test once your proctor tells you to begin.

BB R ELAT BHAGTR . RG4S 20 S PR IR ) e Al At
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Part 1: 8 problems, 3 points each | Z8—#B4 : SEE&EH » HE35

1. The higher the step on the podium, the higher the rank of the runner. Who finished third?
EEE S LU B REEGE - P E ARG BEERT o PR S = R 5E 2

(A) A (B) B (C) C (D)D (E) E

2. In the pictures, each dot stands for 1 and each bar stands for 5. For example,
stands for 8. Which picture stands for 127

000
e BEEECERL - BEREEES o Fldn L8 - RAWFsRE A 3£12 7
® PP o0 0000
. |
(A) (B) (C) e (D) (E)
3. Yesterday was Sunday. What day is tomorrow?
WEREEHIK - IRZ2EME?
(A) Tuesday EHi— (B) Thursday £ H0H (C) Wednesday £H =

(D) Monday £ H— (E) Saturday £H75

4. There are two holes in the cover of a book. When the book is open, it looks like this:
FHBEE A MER o EEAFITRHE » BEERKER

[ [ ] | Ll [T []

B eme gl L2 0

[ [ ] | gl [ I 11 [ []

Which pictures does Olaf see through the holes when he closes the book?
HOlfEIEAE & LI - g R FIHLE A 7

(A)‘u,“, (B).-,“,h (c)“,-l,
D& s Gy e Ta G

_?

AAAAANAANNAN
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Karina cuts out one piece like this from the sheet above. Which piece can she
get?
Karinaf¢ b [& Y] H 1R TEARE— R o AR — B e FTREAS R 2

i hdh AdA

6. Three people walked across a field of snow wearing muddy shoes. In which order did they

do this?
A ANFEEFVREN T ER— T o MR A EENE 5 2
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lay

Pia makes shapes with the connected sticks shown above in the picture. Which of the
following shapes needs more sticks than Pia has?

Piajf AL — AT BN b B PR AR o SEA%T 0 PR 75 208 T L PiaBR A2 A
HAIR 2 AR 2

(A) ]ﬂ[ (B) l:i

(C) 15 (D) E

(E) ]:[
8. What number should replace the question mark when all the calculations are completed
correctly?

AR FTA RIRT SRR IERERRE - WRERUEZ R SR 2

0
+
o[+][1]=
+l=
HEEE
9
(A)4 (B) 5 (C)6 (D)7 (E)8
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Part 2: 8 problems, 4 points each | 2 B4 : SEE&EH » HEH45

Linda pinned up 3 photos in a row on a cork board using 8 pins. Peter wants to pin up 7
photos in the same way. How many pins does he need?

LindafEBUAMR £ (8 FIS{EATHEHE—1T LB T 35RMA o Peterf8LLRIKAYTT 20 E 755
WA - T/ EL DA ?

(A) 14 (B) 16 (C) 18 (D) 22 (E) 26

10.

Dennis wants to remove one cell from the above shape. How many of the following shapes
can he get?

DennisfE/E_EERITEAR FMIER—(EEITHE o il DUEES T ik h py s 2

Six strips are woven into a pattern as shown above. What does the pattern look like from
the back?
B PR o SR AR R — (A B 2 - B R RIEE G S B ?
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12. The weight of dog toy is a whole number in kilograms. How many kilograms does one
dog toy weigh? ("kg” is the abbreviation for kilograms.)

AMNEREREE T - HM—EnANNEREL TR ? (kg T AR )

13. Sara has 16 blue marbles. She can trade marbles in two ways: 3 blue marbles for 1 red
marble or 2 red marbles for 5 green marbles. What is the maximum number of green marbles
she can get?

Sara/H 16 B L BCHAER o fih m] LUa il Wy 7 20 A B R BR « 3{E B B BB Bk ] LA 1 A 4T
OHHEBR > BE 2AMAL B BIEBR ] LIRS (A Ak L I FEBR - Rt iR 2 ] DUETS 2 8 ik 0 I F
Bk 7

(A)5 (B) 10 (C) 13 (D) 15 (E) 20

14.

Steven wants to write each of the digits 2, 0, 1 and 9 in one of the boxes of the sum. He
wants to get the largest possible answer. Which digit could he write instead of the question
mark?

Steven L Z LM BLF2 > 0> 19 BIELEINER XAV B —(E TS - A ERER TR
REVEZE o R AT DA R 552 0 2 MR B 5 2
(A) Either 0 or 1 081 (B) Either 0 or 2 05{#&?2 (C) Only 0 HEEZ0
(D) Only 1 HEER1 (E) Only 2 HEEZ2

15.
. i
400g 100g 7

A full glass of water weighs 400 grams. An empty glass weighs 100 grams. How many grams
does a half-full glass of water weigh?

—BOMIKE4005T © —ZSME10058 © A A —FRPKEZ D5 ?
(A) 150 (B) 200 (C) 225 (D) 250 (E) 300
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w.égfwgi i2?@§% 4? f@ iﬁ?ékﬂg&

Together we Together we Together we How much do we
cost 5 cents. cost 7 cents. cost 10 cents. cost together?
FA—A HA1—A FEAT—A FAVE —A
1E5% % 187 % 2 1810 % 25 14 %V 4k ?
(A) 8 cents 4 (B) 9 cents E5 (C) 10 cents E5
(D) 11 cents E5 (E) 12 cents E5

Part 3: 8 problems, 3 points each | 22 =43 : 8 EEE » HES

17. Each shape stands for a different number. The sum of the three numbers in each row is
shown to the right of the row.

BEEARICEAF IR - BT = EERVEMBRETIAH -

O% Q15
OOON2
* O Dl16

Which number does the * stand for?

A PR s 2
(A)2 (B) 3 (C) 4 (D) 5 (E) 6

18. Anna used 32 small white squares to frame a 7 by 7 picture.

Annaff F T 321 5 /N5 AR 48 —5R 7T 7 E INHE o

>

1+

How many of these small white squares does she need to frame a 10 by 10 picture?

BB 10T 1000 FNIAE » T E L2/ ME /N7 ?
(A) 36 (B) 40 (C) 44 (D) 48 (E) 52
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19. The pages of a book are numbered 1, 2, 3, 4, 5 and so on. The digit 5 appears exactly 16
times. What is the maximum number of pages this book could have?
FHHERSMIE A1 20324050 W —HEH - MFHRTFHE TI6IK - EAFHE A
UEZDHE?

(A) 49 (B) 64 (C) 66 (D) 74 (E) 80

20. A hallway has the dimensions shown in the picture. A cat walks on the dashed line along
the middle of the hallway. How many metres does the cat walk? (m stands for meter.)
EBEPRSTIE R - —EMAEEMPHAES FE - MgEE T 20K ? (mER
Koe)

20m

21. In a park there are 15 animals: cows, cats and kangaroos. We know that precisely 10 are
not cows and precisely 8 are not cats. How many kangaroos are in the park?
e~ BEEAREY) 4 SR - BAMTREMEMANE - A0 AES » Bl
AIAMNES - MAEMERZ D HH 7
(A)2 (B)3 (C)4 (D)8 (E) 10

22. Mary has 9 small triangles: 3 of them are red (R), 3 are yellow (Y) and 3 are blue (B).
She wants to form a big triangle by putting together these 9 small triangles so that any two
triangles with an edge in common are different colours. Mary places some small triangles as
shown in the picture. Which of the following statements is true after she has finished?

Mary B/ N=FAT : HF3EEAE (R) - 3EEHT (Y) » 3HSES (B) - ih#&
g Rl N=fH e R AR WG 2B N =R A
FIEE o GNEFTR » Mary & T —8/N=MJE - TE5e A% » DU BRIERRME & IEfERY 2

(A) 1 is yellow and 3 is red LB EIM3ZALE
(B) 1is blue and 2 is red 12 B TM22ALE
(C) 1 and 3 are red 1FI3EALE

(D) 5 is red and 2 is yellow 54122 5
(E) 1 and 3 are yellow 1FI3E&HE
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23. One of five children Alek, Bartek, Czarek, Darek and Edek has eaten a cookie.
Alek says: 71 haven’t eaten a cookie.”
Bartek says: "I have eaten a cookie.”
Czarek says: "Edek hasn’t eaten a cookie.”
Darek says: "I haven’t eaten a cookie.”
Edek says: ” Alek has eaten a cookie.”
Only one child lies. Who has eaten the cookie?

TEAlek » Bartek * Czarek * DarekflEdek i+ » H— Az T —F o
Alek#t @ “FIRANZIBHFE 7

Bartekgli : “FIZ T HEL o 7

Czarekii, : “Edeki® BNZ B HEHL © 7

Darekt, @ “FiZ BIZBEFEL o 7

Edek#t : “Aleklz T S5z o

HAE— & FIERE - RskZ T8 2

(A) Alek (B) Bartek (C) Czarek (D) Darek (E) Edek

24. Emil started to hang up towels using two pegs for each towel as shown in figure 1.

ANIEL TR » BE AR Emil S5 7 F P {8 5 - o

figure 1

il

He realised that he would have not enough pegs and began to hang up the towels as shown

in figure 2.

%1@%&1’@?&2’4@ JEFRRFIRE  MFELE A Al B 2f R 7 R -
igure

Overall, he hung up 35 towels and used 58 pegs. How many towels did Emil hang up in
the way shown in figure 17

ARBIZRGH, » fE T 355 B I - MAER T 58{E AR+ o Rz RANE 1FTREVTE > Emil##h T2
MMgFEh ?

(A) 12 (B) 13 (C) 21 (D) 22 (E) 23



